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HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| i E (A5
HEHE R
= 1 221, 564, 352
JE T
= 1 25, 486, 770
I L
= 1 8, 854, 090
I LAy =7y ML EEE 10
, 000m3 LA 150, 000m3 A
m3 5, 200 197.6 1,027, 520
TRV IE AR +w Cast- EREY +ET) 7,610m3
= 1 7,008, 810
B s AN T o ALE 7, 600m3
= 1 817, 760
i) L (ICT)
= 1 1, 378, 000
P (ICT) LA A7y BEFMEL 10,000
324 F50, 000m3 K15
m3 5, 200 265 1, 378, 000
B AR 1 T (1CT)
= 1 15, 254, 680
B A (L) B L (ICT)
m3 10, 400 221.7 2, 305, 680
FEIA (V-27) +i> 50, 000m3 AT 11, 500m3
= 1 2, 357, 500
T RS IE AR +w Cast- EREY +ET) 11, 500m3
= 1 10, 591, 500
Mgt R T
= 1 195, 819, 282
i [ oD e B T
= 1 153, 233, 962
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THEX Sy« TH - FERI - HH50 B PO B B G AT & i i E (A5
LB/ avn pyayn A SDFTR%$E (10. Im/Z) SDHLAE (0. 4m)
SCPTE% & (5. 4m/A) SCPATER (0. 7
)
VN 220 70, 057 15, 412, 540
PRZ8 M=V VEVIN (% SDFI % (9. 2m/A) SDHLAE (0. 4m) S
CPFI%E: (6. 5m/AS) SCPHLER (0. Tm)
VN 139 75, 437 10, 485, 743
3TN N Jyayn A FIRE R (15. 9m/R) FEHE (6. 8m)
R E (5. 8m/A) S BALEL (0. 57m)
VN 242 222, 144 53, 758, 848
ATV 2N Jyayn A FIR% R (16. 3m/AR) FHHE (6. 8m)
B (6. 5m/A) B B (0. 57m)
VN 239 225, 999 54,013, 761
&5 5, 9302%m3
= 1 19, 563, 070
f;IZIJ_;
= 1 42, 585, 320
IRZESUTEYN ZE b
VN 50 730, 963 36, 548, 150
&5 1, 830%%m3
= 1 6,037, 170
e
= 1 258, 300
RImE T
= 1 258, 300
AR B 20\ H
(B
= 1 258, 300
B L
= 1 221, 564, 352
BTl TE:
= 1 29, 310, 191
BTl TE:
= 1 8,637, 029
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THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
TR
= 1 5,713, 323
TR Sy A ST 1]
(P [t LA
= 1 1, 420, 987
T RR A oy FRAR ST A B Lzl
(P [t L As)
= 1 4,292, 336
Htre m
= 1 1,107, 082
PREFE B (ICT)
= 1 48, 410
VAT LRI (ICT)
= 1 1,051,971
A7 b R BR
= 1 6,701
BUGERRYGEE (5 1)
= 1 1, 816, 624
MR R (L)
= 1 20, 673, 162
Wi
= 1 250, 874, 543
BTk X=giiv oy
= 1 75, 164, 539
R 5]
= 1 326, 039, 082
— e
= 1 46, 960, 918
TSk
= 1 373, 000, 000
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HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
THE B 2 %8
= 1 37, 300, 000
TG
= 1 410, 300, 000
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